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1. The method which is used very often in the assessment tests of 

personality 
 1. Observation 
 2. Rating Scale 
 3. Questionnaire 
 4. Interview 
 eTÖ]ïeTÔáÇ n+#áH� |�̄ ¿£�\ýË $T¿ìØ* ÔásÁ#áT>± �|�jîÖÐ+#û |�<�ÆÜ 

 1. |�]o\q 

 2. �s�ÆsÁD eÖ|�� 

 3. ç|�Xæ�e[ 

 4. |�]|��#áÌÛ 

 

2. As per W.C. Bagley there is high correlation between  
 1. Heredity & Development 
 2. School facilities & Development 
 3. Growth & Development  
 4. Maturity & Development 
 W.C. u²¹>¢ ç|�¿±sÁ+ M{ì eT<ó�« d�V�²d�+�+<ó� >·TD¿£+  

mÅ£�Øe>± �+³T+~ 

 1. nqTe+¥¿£Ôá eT]jáTT $¿±d�+ 

 2. bÍsÄÁXæ\ ed�ÔáT\T eT]jáTT $¿±d�+ 

 3. �|sÁT>·T<�\ eT]jáTT $¿±d�+ 

 4. |�]|�¿£ÇÔá eT]jáTT $¿±d�+ 

 



 
3. The realization, that we have about our abilities and specialties 

is called 
 1. Self esteem 
 2. Self concept 
 3. Self control 
 4. Internalization 
 eTqýË� kÍeTs�Æ«\T, ç|�Ôû«¿£Ôá\ >·T]+º eTqÅ£�q� kÍ¿�±Ô�ØsÁyûT 

 1. �Ôá�>�sÁe+ 

 2. �Ôá�uó²eq 

 3. dÓÇjáT �jáT+çÔáD 

 4. n+Ôá:¿£sÁD 

 

4. IQ of average intelligents 
 d�>·³T ç|�C²ãe+ÔáT\ ç|�C²ã\_Æ 

 1. 90 ` 110 

 2. 110 ` 130 

 3. 70 ` 90 

 4. 50 ` 70 

  



5. This play can be mentioned as first social activity of the child 
 1. Associate play 
 2. Parallel play 
 3. Solitary play 
 4. Social play 
 � ç¿¡&�qT |¾\¢y�� yîTT<�{ì kÍ+|�¾T¿£ ¿£�Ôá«+>± �|s=Øqe#áTÌ 

 1. d�+d�sÁZ ç¿¡&� 

 2. d�eÖ+ÔásÁ ç¿¡&� 

 3. @¿±+ÔásÁ ç¿¡&� 

 4. kÍ+|�¾T¿£ ç¿¡&� 

 

6. ‘Sign language’ is used to teach 
 1. Physically challenged 
 2. Visually impaired 
 3. Gifted children 
 4. Hearing Impaired 
 M]¿ì uË~ó+#á&��¿ì »d�+C²ãuó²w�qTµ �|�jîÖÐkÍïsÁT. 

 1. n+>·yîÕ¿£\«+ ¿£\y�]¿ì 

 2. <��w¾¼ýË|�+ ¿£\y�]¿ì 

 3. ç|�C²ãe+ÔáTýÉÕq |¾\¢\Å£� 

 4. $�¿ì&� ýË|�+ ¿£\y�]¿ì 

  



7. A comprehensive Classroom Observation tool which is being 
used in AP. Govt. Schools 

 1. PAL 
 2. Research Tool 
 3. Teach Tool 
 4. TARL 

 �+ç<ó�ç|�<ûXÙ bÍsÄÁXæ\ýË¢ �|�jîÖÐd�Tïq� d�eTç>· ÔásÁ>·Ü>·~  

|�]o\q kÍ<ó�q+ 

 1. PAL 

 2. ¯d�sYÌ ³ÖýÙ 

 3. {¡#Y ³ÖýÙ 

 4. TARL 

 

8. Method of remembering Rainbow colours as VIBGYOR is 
 1. Association of ideas 
 2. Attention 
 3. Over learning 
 4. Mnemonic devices 
 �+ç<�<ó�qd�TàýË� sÁ+>·T\qT VIBGYOR ý² >·TsÁTï+#áTÅ£�Hû |�<�ÆÜ 

 1. uó²y�\ d�+d�sÁZ+ 

 2. ne<ó�q+ 

 3. nÜ nuó�«d�q+ 

 4. ¿=+&� >·TsÁTï\T 

  



9. Incorrect statement regarding attitudes 
 1. Attitudes are not inborn 
 2. Attitudes are more stable 
 3. Attitudes are formed by learning and experiences 
 4. We can know the attitude of a person by his external 

behaviour 

 yîÕKsÁT\Å£� d�+�+~ó+º d�]¿±� ç|�e#áq+ 

 1. yîÕKsÁT\T |�Ú³T¼¿£ÔÃ @sÁÎ&û$¿±eÚ 

 2. yîÕKsÁT\T nÔá«+Ôá d¾ÆsÁyîT®q$ 

 3. yîÕKsÁT\T nuó�«d�q+ <�Çs�, nqTuó�y�\ <�Çs� @sÁÎ&�Ô�sTT. 

 4. yîÕKsÁT\qT e«¿ìï u²V�²«ç|�esÁïq <�Çs� Ôî\Td�T¿Ãe#áTÌ 

 
10. General understanding related to a person or thing or a 

situation is called as 
 1. Concept 
 2. Attitude 
 3. Thinking 
 4. Reasoning 
 ÿ¿£ e«¿ìï¿ì >±�, ed�TïeÚÅ£�>±�, |�]d¾�Ü¿ì >±� d�+�+~ó+ºq  

kÍ<ó�sÁD ne>±V�²q 

 1. uó²eq 

 2. yîÕK] 

 3. �ýË#áq 

 4. $yû#áq 

 
  



11. Guiding principle of NCF - 2005 
 1. Conducting more tests 
 2. Limiting the syllabus to text books 
 3. Connecting knowledge with life outside school 
 4. Encouraging Rote and memorizing methods  
 NCF - 2005 eÖsÁZ<�sÁô¿£ d�ÖçÔá+ 

 1. mÅ£�Øe |�̄ ¿£�\qT �sÁÇV¾²+#á&�+ 

 2. bÍsÄÁ«ç|�D²[¿£qT bÍsÄÁ«|�Úd�ï¿±\Å£� |�]$TÔá+ #ûjáT&�+ 

 3. bÍsÄÁXæ\ �jáT{ì J$Ôá+ÔÃ C²ãH��� nqTd�+<ó��+#á&�+ 

 4. ¿£+sÄÁd��, �{¡¼ |�<�ÆÔáT\qT çbþÔáàV¾²+#á&�+ 

 

12. Reason behind excellency of only one person in music field 
among two, who practiced music with same interest is his 

 1. Aptitude 
 2. Interest 
 3. Attitude 
 4. Intelligence 
 ÿ¹¿sÁ¿£yîT®q �d�¿ìïÔÃ d�+^Ô��� nuó�«d¾+ºq �<�Ý]ýË ÿ¿£sÁT eÖçÔáyûT 

d�+^ÔásÁ+>·+ýË s�Dì+#á&��¿ì >·\ ¿±sÁD+ nÔá� 

 1. d�V�²ÈkÍeTsÁÆ«+ 

 2. n_ósÁTº 

 3. yîÕK] 

 4. ç|�Èã 

 
  



13. Children learn emotions through 
 1. Experience and imitation 
 2. Observation and Maturation 
 3. Experience and Practice 
 4. Imitation and Conditioning 
 |¾\¢\T M{ì <�Çs� �<ûÇ>±\qT nuó�«d¾kÍïsÁT 

 1. nqTuó�e+ eT]jáTT nqT¿£sÁD 

 2. |�]o\q eT]jáTT |�]|�¿£ÇÔá 

 3. nqTuó�e+ eT]jáTT nuó²«d�+ 

 4. nqT¿£sÁD eT]jáTT ��+<ó�q 

 

14. ‘Electra complex’ is observed at this psychosexual stage 
 1. Latency stage 
 2. Phallic stage 
 3. Oral stage 
 4. Anal Stage 
 »m\ç¿±¼ ¿±+�|¢¿ùàµqT � eTHÃýÉÕ+Ð¿£ $¿±d�<�XøýË >·eT�+#áe#áTÌ. 

 1. >·T|�ï <�Xø 

 2. ¥Xø� <�Xø 

 3. eTòÏ¿£ <�Xø 

 4. �d�q <�Xø 

 
  



15. National level platform which is commonly, used for 
delivering online courses to teachers 

 �bÍ<ó�«jáTT\Å£� �H�ýÉÕH� ¿ÃsÁTà\qT n+~+#á&��¿ì kÍ<ó�sÁD+>±  

�|�jîÖÐ+#û C²rjáTyû~¿£ 

 1. Cour Sera 
 2. edx 
 3. SWAYAM 
 4. Udemy 
 
16. Teacher centered method among the following 
 1. Project method 
 2. Demonstration method 
 3. Problem solving method 
 4. Heuristic method 
 ç¿ì+~ y��ýË �bÍ<ó�«jáT ¹¿+çB¿£�Ôá |�<�ÆÜ 

 1. çbÍCÉÅ£�¼ |�<�ÆÜ 

 2. ç|�<�sÁôH� |�<�ÆÜ 

 3. d�eTkÍ«|�]cÍØsÁ |�<�ÆÜ 

 4. nHûÇw�D² |�<�ÆÜ 

 

  



17. Murali is behaving aggressively with his classmates. The 
problem of Murali is  

 1. Physical 
 2. Academic 
 3. General 
 4. Behavioural 

 eTTsÁ[ Ôáq ¿±¢dtyûT{ÙàÔÃ <êsÁ̈q«+>± ç|�e]d�TïH��&�T. �¿£Ø&�  

eTTsÁ[ d�eTd�« 

 1. Xæ¯sÁ¿£  

 2. $<�«d�+�+<ó�  

 3. kÍ<ó�sÁD  

 4. ç|�esÁïH�  

 

18. Wrong statement among the following as per Chomskey. 
 1. Children learn language through observation and 

imitation  
 2. Every person has universal language faculty 
 3. Children are born with innate ability to learn language 
 4. Child’s intelligence contains language acquisition 

device. 
 #�y�TdÓØ ç|�¿±sÁ+ d�]¿±� ç|�e#áq+ 

 1. |¾\¢\T |�]o\q, nqT¿£sÁD <�Çs� uó²w�qT HûsÁTÌÅ£�+{²sÁT. 

 2. ç|�Üe«¿ìïýË kÍsÁÇçÜ¿£ uó²cÍ $uó²>·+ �+³T+~. 

 3. |¾\¢\T uó²w�HûsÁTÌÅ£�Hû n+ÔásÁZÔá XøÅ£�ï\ÔÃ È��kÍïsÁT. 

 4. |¾\¢\ yûT<̧�d�TàýË uó²cÍç>·V�²D |�]¿£sÁ+ �+³T+~ 

 

  



19. Planning stage in the phases of teaching 
 1. Teacher active Phase 
 2. Interactive Phase 
 3. Pre – active Phase 
 4. Post – active Phase 
 uË<ó�H�<�Xø\ýË ç|�D²[¿±<�Xø 

 1. �bÍ<ó�«jáT #ás�«Ôá�¿£ <�Xø 

 2. |�sÁd�ÎsÁ #ás�«Ôá�¿£ <�Xø 

 3. |�PsÁÇ #ás�«Ôá�¿£ <�Xø 

 4. �ÔáïsÁ #ás�«Ôá�¿£ <�Xø 

 

20. Primary need among the following 
 1. Love 
 2. Sleep 
 3. Education 
 4. Respect 
 ç¿ì+~ y��ýË çbÍ<̧�$T¿£ ned�sÁ+ 

 1. ç�|eT 

 2. �ç<� 

 3. $<�« 

 4. >�sÁe+ 
 

  



21. This is not a Teaching Strategy of inclusive education 
 1. Small group instruction  
 2. Peer tutoring 
 3. Reinforcements 
 4. Restrictive environment 
 d�$T�[Ôá $<�«ýË uË<ó�H� eP«V�²+ ¿±�~ 

 1. ºq� d�eTT<�jáT uË<ó�q 

 2. d�V�²$<�«]Æ ¥¿£�D 

 3. |�ÚqsÁÒ\H�\T 

 4. �sÁÒ+<ó� y�Ô�esÁD+ 

  

22. “Because I said so” is a typical response of the parents in this 
parenting style. 

 1. Authoritarian 
 2. Permissive 
 3. Authoritative 
 4. Uninvolved 
 � �|+|�¿£XèÕ*ýË� Ôá*¢<�+ç&�T\ kÍ<ó�sÁD ç|�Üd�Î+<�q  

»»HûqT #îbÍÎqT ¿£<� qTeÚÇ #ûjáÖ*à+<ûµµ 

 1. �sÁ+Å£�XøÔáÔáÇ 

 2. n+^¿±sÁÔáÔáÇ 

 3. kÍ~ó¿±sÁÔáÔáÇ 

 4. CË¿£«sÁV¾²Ôá 
  



23. In the process of perception the object we focus on is referred 
as 

 1. Scene 
 2. Ground 
 3. Figure 
 4. Vision 

 ç|�Ôá«¿£� ç|�ç¿ìjáTýË eTq+ <��w¾¼� �*�| ed�TïeÚqT �ý² d�ÖºkÍïsÁT. 

 1. <��Xø«+ 

 2. ¹¿�çÔá+ 

 3. �¿£�Ü 

 4. <��w¾¼ 

  
24. Pro-active inhibition and Retro – active inhibition  

are related to  
 1. Forgetting 
 2. Intelligence 
 3. Attention 
 4. Retention 
 |�ÚsÃ>·eTq nesÃ<ó�+ eT]jáTT ÜsÃ>·eTq nesÃ<ó�+ B�¿ì  

d�+�+~ó+ºq$ 

 1. $d���Ü 

 2. ç|�Èã 

 3. ne<ó�q+ 

 4. <ó�sÁD 

  

  



25. Radha wants to insert some text in the middle of the 
paragraph. But as she types, the existing content is 
disappearing. The Reason is 

 1. The document is in the INSERT mode 
 2. The document is in the DELETE mode 
 3. The document is in the OVERTYPE mode 
 4. The document is in the BACK SPACE mode 
 s�<ó� ÿ¿£ �|s� eT<ó�«ýË ¿=+Ôá e#áH��� (text) #=|¾Î+#�\qTÅ£�+{Ë+~.

¿±ú �yîT fÉ®|t #û�d ¿=BÝ �q� $w�jáT+ n<��Xø«eTeÚÔÃ+~. B�¿ì  

¿±sÁD+ 

 1. &�Å£�«yîT+{Ù INSERT yîÖ&�ýË �+~ 

 2. &�Å£�«yîT+{Ù DELETE yîÖ&�ýË �+~ 

 3. &�Å£�«yîT+{Ù OVERTYPE yîÖ&�ýË �+~ 

 4. &�Å£�«yîT+{Ù BACK SPACE yîÖ&�ýË �+~ 

 
26. The process of doing activity in Kolb’s learning cycle 
 1. Abstract conceptualization 
 2. Active experimentation 
 3. Concrete experience 
 4. Reflective observation 
 ¿ÃýÙÒ nuó�«d�q e\jáT+ýË ¿£�Ô�«�� #û�d ç|�ç¿ìjáT 

 1. neTÖsÁï uó²eq\qT @sÁÎsÁT#áT¿Ãe&�+ 

 2. ç¿ìjáÖo\¿£ ç|�jîÖ>·+ 

 3. eTÖsÁï nqTuó�y�\T 

 4. |�s�«eýË#áq |�]o\q 

 
 

  



27. Motivating the child is important as per this law 
 1. Law of spontaneous recovery 
 2. Law of effect 
 3. Law of Readiness 
 4. Law of generalization 
 � �jáTeT+ ç|�¿±sÁ+ |¾\¢ýýË ç�|sÁD ¿£*Ð+#á&�+ eTTK«+ 

 1. njáTÔá� d¾<�ÆkÍÇd��«+ 

 2. |��*Ôá �jáTeT+ 

 3. d�+d¾<�ÆÔ� �jáTeT+ 

 4. kÍeÖú«¿£sÁD �jáTeT+ 
 

 

28. A student, who was afraid to give a seminar did not come to 
college that day – Defense Mechanism here is  

 1. Denial 
 2. Withdrawal 
 3. Compensation 
 4. Displacement 

 �d$TH�sY �eÇ&��¿ì uó�jáT|�&�q $<�«]� � sÃE ¿±ýñ�¿ì  

s�¿£bþe&�+ýË� sÁ¿£�¿£Ôá+çÔá+ 

 1. �s�¿£]+#áT³ 

 2. �|�d�+V�²sÁD 

 3. |�]V�äsÁ+ 

 4. $kÍï|�q+ 

 

  



29. Appropriate age for learning Motor skills 
 1. Infancy 
 2. Adolescence 
 3. Pre childhood 
 4. Late childhood 
 #á\H�Ôá�¿£ HîÕ|�ÚD²«\T HûsÁTÌ¿Ãe&��¿ì nqTyîÕq <�Xø 

 1. XèÕXøe<�Xø 

 2. ¿�eÖsÁ<�Xø 

 3. |�PsÁÇu²\«<�Xø 

 4. �ÔáïsÁu²\«<�Xø 

 

30. One of the following is not related to Psychomotor Domain 
 1. Imitation 
 2. Articulation 
 3. Manipulation 
 4. Organization 
 ç¿ì+~ y��ýË eÖqd¾¿£ #á\H�Ôá�¿£ sÁ+>±�¿ì #î+<��~ 

 1. nqT¿£sÁD 

 2. �#�ÌsÁD 

 3. V�²d�ïý²|��Te+ 

 4. e«ekÍÆ|�q+ 

 

  



SET – 6 
Telugu 

 
31. �#�sÁT«q Â¿~]+|�Å£� 

 çuËºq <=sÁ �+<� �djáT"uËÅ£�&�T ¿±s�« 

 ýË#áqeTT ý¤+{ì"CñjáTÅ£� 

 eÖ#�sÁeTT $&�Te"uËÅ£�eTjáT« Å£�eÖs�! 

 �|Õ |�<�«+ýË ¿£$ me]� m~]+#áÅ£L&�<�� #îbÍÎsÁT? 

 1. �#�sÁT«&�T 

 2. <=sÁ 

 3. �#�s�\T 

 4. �ýË#áq\T 

 

32. �#�sÁT«q Â¿~]+|�Å£� 

 çuËºq <=sÁ �+<� �djáT"uËÅ£�&�T ¿±s�« 

 ýË#áqeTT ý¤+{ì"CñjáTÅ£� 

 eÖ#�sÁeTT $&�Te"uËÅ£�eTjáT« Å£�eÖs�! 

 Å£�eÖsÁ XøÔá¿£ ¿£sÁï 

 1. yûeTq 

 2. u<îÝq 

 3. |�¿ìØ yû+¿£³ qsÁd¾+V�² 

 4. eÖsÁq 

 

  



33. Ôî\T>·T uó²w�ýË kÍV¾²Ôá«+ýË ç|�È\ H�\T¿£\�|Õ ¿=\TeÚq� ¿£$ yûeTq 

ç|�C²¿£$. >·Ôá 5 XøÔ�u²Ý\¿ì �|Õ>± eTq Ôî\T>·Ty�] |�<�«¿¡]ï u²eÚ{²qT 

ç|�|�+#áy�«|�ï+>± m>·TsÁyûd�TïH��sÁT. ¿±ú Ôî\T>·Ty�sÁyîT®q eTq+ eÖçÔá+ 

� ¿¡]ï |�Ô�¿±�� uó�TC²q <ó�]+#á&��¿ì d¾>·TZ|�&�TÔáTH��+. d¾.|¾.çu�H� nHû 

kÍV¾²ryûÔáï yûeTq |�<�«\qT �+>·¢+ýË�¿ì nqTy�<�+ #ûXæsÁT. �jáTq 

16e XøÔ��Ý+ y�&�� ¿±«+uÉýÙ nHû bÍXæÌÔá« kÍV¾²ryûÔáï n_óçbÍjáT+. 

 yûeTq |�<�«\qT Ôî\T>·TýË qT+&� �+>·¢+ýË¿ì nqTy�~+ºqy�sÁT 

 1. d¾.|¾.çu�H� 

 2. ¿±«+uÉýÙ 

 3. �Ö¢y�Tà 

 4. çbõuÉýÙ 

 
34. Ôî\T>·T uó²w�ýË kÍV¾²Ôá«+ýË ç|�È\ H�\T¿£\�|Õ ¿=\TeÚq� ¿£$ yûeTq 

ç|�C²¿£$. >·Ôá 5 XøÔ�u²Ý\¿ì �|Õ>± eTq Ôî\T>·Ty�] |�<�«¿¡]ï u²eÚ{²qT 

ç|�|�+#áy�«|�ï+>± m>·TsÁyûd�TïH��sÁT. ¿±ú Ôî\T>·Ty�sÁyîT®q eTq+ eÖçÔá+ 

� ¿¡]ï |�Ô�¿±�� uó�TC²q <ó�]+#á&��¿ì d¾>·TZ|�&�TÔáTH��+. d¾.|¾.çu�H� nHû 

kÍV¾²ryûÔáï yûeTq |�<�«\qT �+>·¢+ýË�¿ì nqTy�<�+ #ûXæsÁT. �jáTq 

16e XøÔ��Ý+ y�&�� ¿±«+uÉýÙ nHû bÍXæÌÔá« kÍV¾²ryûÔáï n_óçbÍjáT+. 

 u²eÚ{² n+fñ  

 1. ¿Ã³ 

 2. CÉ+&� 

 3. �T&�>· 

 4. ¿±ÐÔá+ 

 
  



35. »V¾²ÔÃ¿ìïµ XøÔá¿£+ sÁº+ºq ¿£$ 

 1. >·<�Ý\ XæeTÖ«ýÙ 

 2. CÉ+&�eÖH� �kÍ�sTTýÙ 

 3. #áT¿±Ø¿Ã{ì MsÁuó�ç<�eT� 

 4. bþÔáT\Ö] MsÁç�V�²�+ 

 
36. »m\$Tµ nqT|�<��¿ì nsÁ�+ 

 1. C²ãq+ 

 2. #î*$T 

 3. d�+ÔÃw�+ 

 4. uó�Ö$T 

 
37. »~³eÚµ |�s�«jáT|�<�\T 

 1. XË¿£eTT, @&�T|�Ú 

 2. <�T>·ÆeTT, bÍ\T 

 3. <óîÕsÁ«eTT, Xø¿ìï 

 4. |�\¢eTT, ýËÔáT 

 
38. »$Ôá+µ |�<��¿ì ç|�¿£�Ü 

 1. MÔá+ 

 2. $Ôáï+ 

 3. $$<ó�+ 

 4. $<ó�+ 

 
 
 



39. »#îÕÔáq«+µ |�<��¿ì H�H�sÁ�|�<�\T 

 1. Ôî*$, çbÍD+ 

 2. d�+ÔÃw�+, kåK«+ 

 3. jáTÈã+, $w�§�eÚ 

 4. �yîT�Ôáï, ed�+Ôá¿±\+ 

 
40. ç¿ì+~ |�<�\ýË C²rjáÖ�� >·T]ï+#á+&�. 

 1. #ûÜ¿£çsÁ 

 2. Ôá\ýË H�\T¿£ 

 3. |�d�T|�Ú Å£�+Å£�eT 

 4. d�T&�>±* 

 
41. �|ÕH=¿£ |�\¿£ ¿ì+<=¿£ |�\¿£ |�\¿£\ q&�TeT yîT*¿£\ Ð\¿£ 

 1. ¿£qT� 

 2. >=+ÔáT 

 3. H�\T¿£ 

 4. d�ÖsÁ« #á+ç<�T\T 

 

42. s�eTT mçsÁ� #=¿±Ø Ô=&�TÅ£�ØH��&�T.  

� y�¿£«+ýË $Xâw�D+ >·T]ï+#á+&�. 

 1. s�eTT 

 2. mçsÁ� 

 3. #=¿±Ø 

 4. Ô=&�TÅ£�H��&�T. 

 
 



43. »$<�« #ûÔá e]Æ\T¢eTTµ 

� y�¿£«+ýË >·\ $uó�¿ìï 

 1. ç|�<̧�eÖ $uó�¿ìï 

 2. ~ÇrjáÖ $uó�¿ìï 

 3. Ôá�rjáÖ $uó�¿ìï 

 4. #áÔáT Ǣ $uó�¿ìï 

 
44. çdÓï\qT d�+uË~ó+#û |�<�\T 

 1. eTV�²ÔáTï\T 

 2. eTV�²ry�#á¿±\T 

 3. |�Ú+*+>·+ 

 4. q|�Ú+d�¿£ *+>·+ 

 

45. »¿±eÖµ nq>± 

 1. |�PsÁ� $s�eT ºV�²�+ 

 2. d�Ç\Î $s�eT ºV�²�+ 

 3. �XøÌs�«sÁ�¿£+ 

 4. ç|�Xæ�sÁ�¿£+ 

 
46. »n+<�sÁTµ nHû |�<�+ <û�¿ì #î+~q~? 

 1. @¿£e#áq+ 

 2. �V�Qe#áq+ 

 3. �Ôá« @¿£e#áq+ 

 4. ç|�Xæ�sÁ�¿£+ 

 
 



47. ¿ì+~ y��ýË d�+Xâ¢cÍ¿£�sÁ |�<�+ 

 1. >·+� 

 2. ~�Ò 

 3. sÁeT« 

 4. <�çw�¼ 

 
48. ¿ì+~ y��ýË d�sÁÞø |�<��� >·T]ï+#á+&� 

 1. n<�Ý+¿ì 

 2. ~ÇÔáÇeTT 

 3. d�+jáTT¿£ïeTT 

 4. |�\¿£ 

 

49. ÿ¹¿ |�<�+ |�PsÁÇ, |�sÁ |�<�\T>± �q�|�ð&�T |�sÁ|�<�+ 

 1. �çyûT&�ÔáeTT 

 2. �>·eT+ 

 3. �<ûXø+ 

 4. ç<�TÔá+ 

 

50. »d�¿£ýÉÕ¿£«+µ |�<�+ýË �q� d�+~ó 

 1. >·TD d�+~ó 

 2. nÔáÇ d�+~ó 

 3. d�esÁ� BsÁéd�+~ó 

 4. e�~Æ d�+~ó 

 

 



51. »u²\« ç¿¡&�\Tµ @ d�eÖd� |�<�+? 

 1. #áÔáT �̄ ÔáÔáTÎsÁTw� d�eÖd�+ 

 2. |�+#áMT ÔáÔáTÎsÁTw� d�eÖd�+ 

 3. w�wÓ÷ ÔáÔáTÎsÁTw� d�eÖd�+ 

 4. d�|�ïMT ÔáÔáTÎsÁTw� d�eÖd�+ 

 

52. »�ÔáÎ\eÖ\µ |�<�« >·D²\T 

 1. q, È, uó�, È, È, sÁ 

 2. uó�, sÁ, q, uó�, uó�, sÁ, e 

 3. eT, d�, È, d�, Ôá, Ôá, >· 

 4. d�, uó�, sÁ, q, eT, jáT, e 

 

53. |�<�«+ýË>±�, |�<�«bÍ<�+ýË>±� ÿ¿£{ì ýñ<� n+Ôá¿£+fñ mÅ£�Øe  

V�²\T¢\T |�Úqs�e�ÔáïeTsTTÔû n~ @ n\+¿±sÁ+? 

 1. n+Ô�«qTçbÍd� 

 2. nÜXøjîÖ¿ìï 

 3. sÁÖ|�¿£ 

 4. e�Ôáï«qTçbÍd� 

 

54. Ws�! dÓÔ�s�eTT\ sÁ<̧�+ m+Ôá eTT#áÌ³>± �+<Ã! 

 1. �osÁsÁ�¿£ y�¿£«+ 

 2. �XøÌs�«sÁ�¿£ y�¿£«+ 

 3. ç|�Xæ�sÁ�¿£ y�¿£«+ 

 4. nqTeTÔá«sÁ�¿£ y�¿£«+ 

 

 



55. <ó�ÇqT\Å£� ` <ó�ÇqT\Å£� eT<ó�« �#�ÌsÁDýË� bþ*¿£\T, Ôû&�\T  

ç>·V¾²+#á&�+ nHû~ B�� Ôî*jáTCñd�Tï+~ 

 1. ne>±V�²q 

 2. C²ãq+ 

 3. uó²cÍ_ósÁTº 

 4. d��ÈH�Ôá�¿£Ôá 

 

56. »»e#Yµµ nHû d�+d�Ø�Ôá <ó�ÔáTeÚ qT+&� @sÁÎ&�� |�<�+ 

 1. e#áq+ 

 2. y�Å£�Ø 

 3. y�º¿£+ 

 4. çXøeD+ 

 

57. ÿ¿£ >·<�«+Xæ�� ÿ¿£ ¿£<̧�ý²>± $<�«sÁT�\Å£� Ôî*jáT#ûd¾ y�]#ûÔá  

� ¿£<̧�qT Ü]Ð #î|¾Î+#á&�+ nHû~ � |�<�ÆÜ 

 1. ç|�XË�ÔáïsÁ |�<�ÆÜ 

 2. #ás�Ì |�<�ÆÜ 

 3. ¿£<̧� ¿£<̧�q |�<�ÆÜ 

 4. $esÁD |�<�ÆÜ 

 

58. &�+> ́&�+>́ y�<��� ç|�ÜbÍ~+ºq y�sÁT 

 1. eÖÅ£�àeTT\¢sY 

 2. #�y�TdÓØ 

 3. jîÖV¾²V�² þ 

 4. çb�þuÉýÙ 

 



59. <ûXø |�{²\T nHû$  

 1. çXøe« �|�¿£sÁD²\T 

 2. <��Xø« �|�¿£sÁD²\T 

 3. <��Xø« ` çXøe« �|�¿£sÁD²\T 

 4. n<��Xø« �|�¿£sÁD²\T 

 

60. $<�«sÁT�\ nuó�«d�q kÍÆsTT\qT m|�Î{ì¿£|�ð&�T n+#áH� yûd�Öï,  

ned�sÁyîT®q #ásÁ«\T #û|�{ì¼ ç|�>·Ü� kÍ~ó+#á&��¿ì XæçdÓïjáT+>±  

|��*Ô�\qT $Xâ¢w¾+#á&��¿ì ÔÃ&�Î&û ç|�ç¿ìjáT 

 1. yîÕjáT¿ìï¿£ uË<ó�q 

 2. d�Ö¿£�� uË<ó�q 

 3. |�sÁ«yû¿£�D 

 4. �sÁ+ÔásÁ d�eTç>· eTÖý²«+¿£q+ 

 

  



SET – 6 

ENGLISH 

 
61. If I ________ you. I would marry her. 
 Choose the option that fits the blank. 
 1. am 
 2. was 
 3. were 
 4. be 

 

62. She __________ plants at 8 am yesterday. 
 Choose the option that fits the blank. 
 1. was watering 
 2. is watering 
 3. waters 
 4. will water 

 

63. Choose the grammatically incorrect sentence from the 
following. 

 1. I have two dozens oranges. 
 2. I have two dozen oranges. 
 3. What is the price of the car? 
 4. What are you? 
 

64. Choose the section of speech which typically includes the 
main points and supporting details. 

 1. introduction 
 2. body 
 3. conclusion 
 4. engagement 



65. Choose the punctuation mark used to indicate strong emotion. 
 1. Comma (,) 
 2. Exclamation mark (!) 
 3. Question mark (?) 
 4. Full stop (.) 
 

66. Choose the correct sequence of the words in which they appear 
in the dictionary. 

 A) involve   B) invite C) invention      D) invigilation 

 1. A C B D 
 2. D C B A 
 3. B A C D 
 4. C D B A 

 

67. One of the following is NOT a linker that indicating addition. 
 1. furthermore 
 2. in addition 
 3. eventually 
 4. additionally 

 

68. Choose the complex sentence from the following 
 1. Since he arrived late, he had no time to relax. 
 2. We always eat dinner together. 
 3. He doesn’t like vegetables. 
 4. I don’t want anything to drink. 

 

 

 



69. One of the following is not a reflexive pronoun 

 1. myself 
 2. yourself 
 3. himself 
 4. hisself 
 
70. Choose the correct interjection to convey excitement or 

happiness 
 1. sorry 
 2. oh no 
 3. hooray 
 4. stop 
 
71. Choose the phrasal verb that means ‘to search thoroughly’ 
 1. bring up 
 2. run out 
 3. look into 
 4. put off 
 

72. Choose the sentence type that often expresses excitement  
 1. Imperative sentence 
 2. Interrogative sentence 
 3. Declarative sentence 
 4. Exclamatory sentence 
 

 

 

 

 



73. The man said to the officer, “Please help me.” 
 Choose the indirect speech for the sentence above. 
 1. The man told the officer to help him. 
 2. The man requested the officer to help him. 
 3. The man requested the officer to helping him. 
 4. The man said to the officer to please help him. 

 

74. Our principal and mathematics teacher ______ on leave. 
 1. is 
 2. are 
 3. be 
 4. were 

 

75. A four-wheeled carriage for a baby, pushed by a person on 
foot. 

 Choose one word substitute for the expression above. 
 1. spam 
 2. pram 
 3. cart 
 4. buggie 

 

76. Choose the correctly spelt word. 
 1. entarprise 
 2. enterprais 
 3. enterprise 
 4. enterprice 
 
 
 



77. The mist affords a certain privacy. 
 Choose the synonym of the word ‘Privacy’ 
 1. seclusion 
 2. publicity 
 3. exposure 
 4. crowdedness 

 

78. “Letters survive in which they put their affection into words 
mixing science with tenderness.” 

 Choose the antonym of the word ‘survive’ 
 1. thrive 
 2. endure 
 3. perish 
 4. sustain 
 

79. Reading for examination is considered as: 
 1. Extensive reading 
 2. Intensive reading 
 3. Extra reading 
 4. Tension reading 

 

80. The group that doesn’t come under content words: 
 1. Nouns 
 2. Verbs 
 3. Adjectives 
 4. Prepositions 
 
 
 
 



81. A good lesson plan is _______ for good teaching. 
 1. a pre requisite 
 2. a post requisite 
 3. an un wanted thing 
 4. a success story 
 
82. The first step in designing a language textbook is: 
 1. Selection of grammar topics 
 2. organisation of grammar topics 
 3. selection of appropriate language samples 
 4. sequencing of grammar topics 
 
83. Read the following passage. 
 The waves lapped gently against the sandy shore, their 

rhythmic motion soothing to the soul. Seagulls soared 
overhead, their cries blending with the distant sound of 
laughter. As the sun dipped below the horizon, painting the 
sky with hues of pink and orange, the beach became a canvas 
of tranquility and beauty. 

 Select the correct statement based on the passage: 
 1. The waves crashed violently against the rocky shore. 
 2. Seagulls were diving into the water to catch fish. 
 3. The laughter was mixed with the sounds made by 

seagulls 
 4. The sunset painted the sky with shades of green and  

blue. 
  
 
 
 
 
 
 



84. Read the following passage. 
 The waves lapped gently against the sandy shore, their 

rhythmic motion soothing to the soul. Seagulls soared 
overhead, their cries blending with the distant sound of 
laughter. As the sun dipped below the horizon, painting the 
sky with hues of pink and orange, the beach became a canvas 
of tranquility and beauty. 

 Choose the correct statement based on the passage: 
 1. The beach was empty, devoid of any signs of life. 
 2. The sun rose high in the sky, casting harsh shadows on 

the sand. 
 3. The sound of seagulls added to the peaceful ambiance 

of the beach. 
 4. The waves were still and stagnant, with no movement  

or sound. 
 
85. Learning proceeds from concrete to abstract because of 
 1. Psychological principles 
 2. Oral fluency 
 3. social barriers 
 4. scientific experiments 
 
86. Passive vocabulary is called 
 1. main vocabulary 
 2. direct vocabulary 
 3. recognizing vocabulary 
 4. essential vocabulary 

 
 
 
 
 
 



87. Having a pet is ____ having a child. 
 Choose the correct option to complete the sentence. 
 1. like 
 2. likewise 
 3. likely 
 4. like as 
 
88. Choose the incorrect statement regarding subordinating 

clauses. 
 1. Subordinating clauses cannot stand alone as complete 

sentences. 
 2. Subordinating clauses often begin with subordinating 

conjunctions. 
 3. Subordinating clauses always express complete 

thoughts 
 4. Subordinating clauses rely on independent clauses to  

form complete sentences. 

 

89. Could you please pass the salt? 
 Choose the function of ‘could’ in the above sentence: 
 1. Permission 
 2. Polite request 
 3. Future intention 
 4. Certainty 

 

90. One of the following is not a use of indefinite articles.  
Identify it. 

 1. Introducing a singular noun 
 2. Referring to specific groups 
 3. Expressing rates and ratios 
 4. Professions and nationalities 



SET –9 

MATHEMATICS 
 
91. In a library, there are 48 cupboards and in each cupboard, 

there are 63 books. The number of books in the library are 
 ÿ¿£ ç>·+<̧�\jáT+ýË ÿ¿£ ¿£|tuËsY¦ q+<�T 63 |�Úd�ï¿±\T #=|�ðq, 48  

¿£|tuËsÁT¦\T ¿£\eÚ. ç>·+<ó�\jáT+ýË� yîTTÔáï+ |�Úd�ï¿±\ d�+K«  

 1. 3064 
 2. 4024 
 3. 3024 
 4. 3046 
   

  
92. There are 54 grapes in one plate. If there are 44 such plates, 

then the number of grapes is 
 ÿ¿£ |�Þèß+ýË 54 ç<�¿£�\T �H��sTT. 44 |�Þ²ß\ýË yîTTÔáï+ >·\  

ç<�¿£�\ d�+K«  

 1. 2376 

 2. 2046 

 3. 2336 

 4. 5444 
  



93. By which rational number would you multiply 
21
8  to get the 

product ‘1’ 

 
21
8

 � @ n¿£sÁD¡jáT d�+K«ÔÃ >·TDì+ºq \�Æ+ »1µ ed�Tï+~.  

 1. 1  

 2. 
8
21-  

 3. 
21
8  

 4. 
8
21   

 
94. What could be the possible digits in one’s place of the square 

root the number 99856 
 99856 jîTT¿£Ø esÁZeTÖ\+ýË ÿ¿£³¢ kÍ�q+ýË �+&� >·*¹> n+Â¿\T  

 1. 1, 9 
 2. 4, 6 
 3. 5, 2 
 4. 3, 9 
  
95. Parikshit makes a Cuboid of plasticine of sides 5cm, 2cm, 

5cm. The number of such Cuboids needed to form a Cube 
 |�̄ ¿ì�ÔY bÍ¢d¾¼d¾H�ÔÃ 5 �d+.MT , 2 �d+.MT. eT]jáTT 5 �d+.MT.  

¿=\Ôá\T >·\ ÿ¿£ BsÁé |��TH��� ÔájáÖsÁT#ûXæ&�T. ÿ¿£ |��Tq+  

#ûjáT&��¿ì nÔá�¿ì ¿±e\d¾q BsÁé|��TH�\ d�+K« 

 1. 10 

 2. 30 

 3. 20 

 4. 41 

 

  



96. Present age of father is 42 years and that of his son is 14 years. 
Ratio of father’s age and his son’s age 

 Ôá+ç&� jîTT¿£Ø ç|�d�TïÔá ejáTd�Tà 42 d�+öö eT]jáTT nÔá� Å£�eÖsÁT� 

ejáTd�Tà 14 d�+eÔáàsÁeTT\T nsTTÔû Ôá+ç&� eT]jáTT Å£�eÖsÁT�  

ejáTd�Tà\ �w�ÎÜï    

 1. 1:3 
 2. 3:1 
 3. 3:2 
 4. 2:3 

 

97. Convert
20
8 into percent. 

 
20
8

 � XæÔá+>± eÖ]Ìq 

 1. 20% 
 2. 30% 
 3. 40% 
 4. 50% 
 
98. A man got a 10% increase in his salary. If his new salary is 

`1,54,000, then his original salary is 

 ÿ¿£ e«¿ìï yûÔáq+ýË 10% �|]Ðq ÔásÁTy�Ôá ¿=ÔáïyûÔáq+ `1,54,000  

nsTTÔû nÔáqT nd�\T yûÔáq+ m+Ôá?  

 1. `1,54,000 

 2. `1,20,000 

 3. `1,30,000 

 4. `1,40,000 
  



99. If Manohar pays an interest of  `750 for 2 years on a sum of 
`4500. The rate of interest is 

 eTHÃV�²sY `4,500 yîTTÔáï+ �|Õ 2 d�+eÔáàs�\Å£� `750 e&�¦� #î*¢�dï  

<�� e&�¦¹s³T  

 1. 
4
38 % 

 2. 
4
18 % 

 3. 
3
18 % 

 4. 
3
48 % 

 

100. Simplify
5
12

5
24 -  

 
5
12

5
24 - d�Ö¿¡��¿£]+#á>± 

 1. 
5
22  

 2. 
5
12  

 3. 
5
32  

 4. 
5
42  

 
  



101. A batsman scored 556 runs in 8 innings.The mean runs scored 
by him in an innings  

 ÿ¿£ u²«{ÙàeTH� 8 ���+>́à\ýË #ûd¾q yîTTÔáï+ |�sÁT>·T\ d�+K« 556  

nsTTq ÿ¿£ ���+>́àýË nÔáqT #ûd¾q d�>·³T |�sÁT>·T\T 

 1. 68.5 
 2. 69 
 3. 69.5 
 4. 70 
 
102. Side of a square is 4 cm. Perimeter of square is (incm)  

 4 �d+.MT uó�TÈ+ bõ&�eÚ >·\ #áÔásÁçd� #áT³T¼¿=\Ôá (�d+.MTýýË) 

 1. 14 
 2. 10 
 3. 18 
 4. 16 

103. The triangle whose angles are 000 45,45,90  

 1. Right Angle Triangle 
 2. Acute Angle Triangle 
 3. Obtuse Angle Triangle 
 4. Scalene Triangle 

 000 45,45,90 ¿ÃD²\ ¿=\Ôá\T >·\ çÜuó�TÈ+  

 1. \+�¿ÃD çÜuó�TÈ+ 

 2. n\Î¿ÃD çÜuó�TÈ+ 

 3. n~ó¿£ ¿ÃD çÜuó�TÈ+ 

 4. $w�eTu²V�Q çÜuó�TÈ+ 

 

 
  



104. The 3D-shape of the Pencil  
 1. Cuboid 

 2. Sphere 
 3. Pyramid 
 4. Cylinder  

 �|�àýÙ 3&� (çÜ$TrjáT) �¿±sÁ+ 

 1. BsÁé|��Tq+ 

 2. >ÃÞø+ 

 3. |¾sÁ$T&� 

 4. d�Ö�|�eTT   

 

105. In a Right angle, if the second angle is 60° then the third angle 
is  

 \+�¿ÃD çÜuó�TÈ+ýË Âs+&�e ¿ÃDeTT 60° nsTTq eTÖ&�e ¿ÃD+  

 1. 30° 

 2. 60° 

 3. 45° 

 4. 90° 
106. The smallest odd prime number 

 nÜ ºq� uñd¾ ç|�<ó�H�+¿£eTT 

 1. 3 
 2. 2 
 3. 1 

 4. 5 
  



107. If 1=x then the value of 2)3( +-xx  

 1=x e<�Ý 2)3( +-xx  $\Te  

 1. 1  
 2. 2  
 3. 0  
 4. 4 
 

108. The solution of 5)(y10)7y(y2 +¸++  

 5)(y10)7y(y2 +¸++  jîTT¿£Ø kÍ<ó�q 

 1. 2+y  

 2. 4+y  

 3. 2-y  

 4. 4-y  

 

109. Express the number appearing in the following statement in 
standard form “Size of Plant cell is 0.00001275 m”.  

 ç¿ì+~ y�¿£«+ýË� d�+K«qT çbÍeÖDì¿£sÁÖ|�+ýË s�jáT+&�.  

»»ÿ¿£ e�¿£�¿£D |�]eÖD+ 0.00001275 MT.µµ 

 1. 5101.275´  

 2. 72 10.751 ´  

 3. 52 -´10751.  

 4. 8.2 10751 ´  

 

110. If x= 2 then the value of 310100 x-  

 x= 2 e<�Ý 310100 x- jîTT¿£Ø $\Te 

 1. 100 
 2. 10 
 3. 20 
 4. 80 



111. A caterpillar covers 100 cm distance in a minute. The distance 
it covers in 15 minutes 

 1. 10m 
 2. 15m 
 3. 20m 
 4. 25m 

 ÿ¿£ >=+>·[ |�ÚsÁT>·T 1 �ööýË 100 �d+.MT bÍ¿£>·\<�T.  

n~ 15 �öö\ýË bÍ¿£>·*Ðq <�ÖsÁ+ 

 1. 10 MT³sÁT¢ 

 2. 15 MT³sÁT¢ 

 3. 20 MT³sÁT¢ 

 4. 25 MT³sÁT¢ 

 
112. Sneha began her home work at 4:30 PM. She worked for  

80 minutes. Then the time when she finished the work 

 �d�V�² 4:30 PM Å£� �+{ì |�� yîTT<�\T�|{ì¼ 80 �öö bÍ³T #ûd¾+~,  

nsTTÔû �yîT |��� |�P]ï#ûd¾q|�ð&�T d�eTjáT+ 

 1. 5:40 PM 
 2. 5:40 AM 
 3. 5:50 PM 
 4. 5:50 AM 
 
113. The area of a rhombus whose diagonals are 10.5cm and 12cm 

(in Sq.cm)  
 ¿£sÁ�eTT\ bõ&�eÚ\T 10.5 �d+.MT eT]jáTT 12 �d+.MT >·\ s�+�dt 

 yîÕXæ\«eTT (#á.�d+.MT.\ýË)  

 1. 12 
 2. 63 
 3. 10.5 
 4. 68 



 
114. The diameter of a circular pipe is 14cm. The length of tape  

required to once round the pipe  
 e�Ô�ï¿±sÁ �|Õ|�Ú jîTT¿£Ø y�«d�eTT 14 �d+.MT. �|Õ|�Ú #áT³Ö¼ ÿ¿£kÍ]  

#áT³¼&��¿ì m+Ôá bõ&�eÚ fñ|�Ú ned�sÁ+ 

 1. 100 
 2. 88 
 3. 66 
 4. 44 
 

METHODOLOGY   

 
115. Mathematical thinking, mathematical reasoning, obtaining 

logical confirmation and understanding abstract concepts are 
related to this aim  

 1. Narrower aim  
 2. Without aim 
 3. Broader aim 
 4. Emotional aim  

  |¾\¢\ýË >·DìÔá|�sÁyîT®q �ýË#áq, >·DìÔá|�sÁ+>± $yû#áq, Ô�]Ø¿£  

�s�ÆsÁDÅ£� s�e&�+, neTÖsÁïÔ�Ç�� nsÁ�+ #ûd�T¿Ãe&�+ ç¿ì+~    

>·DìÔá $<�«>·eÖ«�¿ì #î+~q$ 

 1. d�+Å£�ºÔá >·eT«+ 

 2. @ >·eT«+ ýñ<�T 

 3. �q�Ôá >·eT«+ 

 4. �<ûÇ>· >·eT«+  

 

  



116. Different parts of a syllabus should be introduced in different 
classes, depending on the difficulty level and the mental level 
of the students. The method of setting up the curriculum in this 
way is called  

 1. Concentric method 
 2. Spiral method 
 3. Child centric method   
 4. Teacher centric method    

 ÿ¿£ bÍsÄ�«+Xæ�¿ì #î+~q $$<ó� uó²>±\qT y�{ì ¿±]ÄH�«��, $<�«sÁT�\

eÖqd¾¿£ kÍ�sTT� �{ì¼ $$<ó� ÔásÁ>·ÔáT\ýË ç|�yûXø�|{²¼*. �$<ó�+>± 

$<�«ç|�D²[¿£qT @s�Î³T#û�d $<ó�qeTT 

1. @¿£¹¿+ç<� |�<�ÆÜ 

 2. d�]Îý²¿±sÁ |�<�ÆÜ 

 3. $<�«]� ¹¿+çB¿£�Ôá |�<�ÆÜ 

 4. �bÍ<ó�«jáT ¹¿+çB¿£�Ôá |�<�ÆÜ  

 

117. “Concepts in Mathematics are arranged in a ladder form in 
which one concept is related to another in a sequential order.” 
This method is 

 1. Principle of Association 
 2. Law of continuity  
 3. Method of Analogy  
 4. Insight learning 
 »»>·DìÔá+ýË� uó²eq\T ÿ¿£ esÁTd�ç¿£eT+ýË ÿ¿£ uó²eqÅ£�, eTs=¿£  

uó²eqÅ£� d�+�+<ó�+ �+&û$<ó�+>± �#îÌq sÁÖ|�+ýË neT]Ì �+{²sTTµµ.

B�� d�Öº+#áT �jáTeTeTT 

 1. d�+d��sÁZ �jáTeT+ 

 2. n$ºÌÛq�Ôá �jáTeT+ 

 3. kÍsÁÖ|�« �jáTeT+ 

 4. n+ÔásÁ<��w¾¼ nuó�«d�q+ 

 



118.  ‘The school Master’s Assistant’ which is considered as the 
first text book is written by 

 1. Benjamin Blooms 
 2. Anderson  
 3. Srinivasa Ramanujan 
 4. Thomas Dilworth  

 yîTT³¼yîTT<�{ì bÍsÄÁ«|�Úd�ï¿£+>± uó²$+#û ‘The school Master’s  
Assistant’ nHû |�Úd�ï¿±�� sÁº+ºq~  

 1. uÉ+�eTH� �Ö¢y�Tà 

 2. n+&�sYd�H�  

 3. ço�y�d� s�eÖqTÈH� 

 4. <̧�eTdt &�ýÙesYï 

 

119. In the primary education level which is more beneficial for 
mathematical learning according to individual differences, self 
learning pace than text books.   

 1. Guide 
 2. Note book 
 3. Work book  
 4. Graph book 
 

 çbÍ<̧�$T¿£ kÍ�sTTýË >·DìÔá nuó�«d�H��¿ì yîÕjáT¿ìï¿£ uóñ<�\¿£qT>·TD+>±,

d�ÇjáT+ nuó�«d�q yû>±�¿ì ÔáÐq³T¢ bÍsÄÁ«ç>·+<ó�+ ¿£+fñ n~ó¿£+>±  

�|�jîÖ>·|�&û~ 

 1. Â>Õ&� 

 2. HÃ{Ù�T¿ù 

 3. d�ÇjáT+ nuó�«d�q B|¾¿£ 

 4. ç>±|�t�T¿ù 

 
 



120. The assessment used to scale the practice of the student after 
some learning is completed  

 1. Formative Assessment 
 2. Summative Assessment 
 3. Diagnostic Test 
 4. Entrance Test  

 $<�«]� ¿=+Ôá nuó�«d�qqT |�P]ï #ûd�TÅ£�q� Ôás�ÇÔá kÍ<ó�qqT  

¿=\e&��¿ì �|�jîÖÐ+#û eT~+|�Ú  

 1. �s��D²Ôá�¿£ eT~+|�Ú 

 2. d�+ç>·V�²D²Ôá�¿£ eT~+|�Ú 

 3. ýË|��s�ÆsÁD |�̄ ¿£� 

 4. ç|�yûXø |�̄ ¿£� 

  



SET –9 

EVS 
 
121. Same kind of plants cultivated at one place on a large scale is 

called  
 1. Culture  
 2. Crop 
 3. Park  
 4. Nursery 
 ÿ¹¿ sÁ¿£yîT®q yîTT¿£Ø\qT ÿ¹¿ #Ã³ n~ó¿£ d�+K«ýË kÍ>·T #û�dï <��� 

� $<ó�+>± n+{²+ 

 1. esÁÆq+ 

 2. |�+³ 

 3. �<�«qeq+ 

 4. qsÁà¯ 

 

122. The first fully synthetic fibre 
 1. rayon  
 2. wool  
 3. nylon 
 4. terylene 
 yîTT³¼yîTT<�{ì d�+|�PsÁ� ¿£�çÜeT <�sÁ+ 

 1. ¹sjáÖH� 

 2. ��� 

 3. HîÕý²H� 

 4. fÉ]¢H� 

 
 



123. The lowest temperature at which a substance catches fire is  
 1. Ignition temperature  
 2. Optimum temperature 
 3. Minimum temperature  
 4. Maximum temperature  
 ÿ¿£ |�<�sÁÆ+ eT+&û nÔá«+Ôá ¿£�w�÷ �cþ�ç>·Ôá 

 1. ÈÇ\q �cþ�ç>·Ôá 

 2. nqTÅ£L\ �cþ�ç>·Ôá 

 3. ¿£�w�÷ �cþ�ç>·Ôá 

 4. >·]w�÷ �cþ�ç>·Ôá 

 

124. The study of celestial objects and associated phenomena is 
called 

 1. Astrology 
 2. Astronomy  
 3. Cosmetology 
 4. Meteorology  
 K>ÃÞø ed�TïeÚ\T eT]jáTT d�+�+~óÔá <ó��ÐÇw�jáÖ\ n<ó�«jáTH��� �

$<ó�+>± |¾\TkÍïsÁT. 

 1. CË«Üw�«+ 

 2. K>ÃÞø Xæg+ 

 3. ¿±kÍ�{²\J 

 4. yîT{ìjáÖs�\J 

 

 

 

 



125. Cuscuta plant is an example of  
 1. Autotroph 
 2. Parasite 
 3. Saprophyte 
 4. Host 
 ¿£d�TØ³ yîTT¿£Ø B�¿ì �<�V�²sÁD 

 1. d�ÇjáT+ bþw�¿£+ 

 2. |�sÁbþw�¿£+ 

 3. |�PÜ¿±V�ä] 

 4. nÜ<óûsTT 

 

126. The cell that results after fusion of the gametes  
 1. Zygote  
 2. Embryo 
 3. Ovule  
 4. Fertilization  

 d�+jîÖ>· ;C²\ d�+jîÖ>· |��*Ôá+>± @sÁÎ&û ¿£D+ 

 1. d�+jáTT¿£ï ;È+ 

 2. |¾+&�+ 

 3. n+&�+ 

 4. |��\B¿£sÁD 

 

 

 

 

 



127. The device which works based on the magnetic effect of 
electric current is  

 1. Electric bell  
 2. Fuse  
 3. Geyser  
 4. Hair dryer  

 $<�T«ÔY ç|�y�V�²|�Ú njáTkÍØ+Ôá |��*Ôá+ �|Õ �<ó�sÁ|�&� |��#û�d  

 |�]¿£sÁ+ 

 1. $<�T«ÔY >·+³ 

 2. |��P«CÙ 

 3. ^ÈsY 

 4. �V²sTTsY ç&îÕjáTsY 

 

128. The first reserve forest of India 
 1. Jim Corbett National Park  
 2. Kondapalli reserve forest  
 3. Nilgiri Biosphere Reserve  
 4. Satpura National Park  
 uó²sÁÔá <ûXø|�Ú yîTT³¼yîTT<�{ì ]ÈsYÇ n³MçbÍ+Ôá+ 

 1. �y�T ¿±ÂsÒ{Ù C²rjáT �<�«qeq+ 

 2. ¿=+&�|�*¢ ]ÈsYÇ n³MçbÍ+Ôá+ 

 3. ú\Ð] Jy�esÁD ]ÈsYÇ 

 4. kÍÔáÖÎs� C²rjáT �<�«qeq+ 

 
 
 
 
 



129. The award given to social activist “Bezawada Wilson”  
 1. Booker prize 
 2. Ramon Magsaysay Award  
 3. Jnanpith Award   
 4. Pulitzer  
 kÍeÖ�¿£ �<�«eT¿±sÁT&�T »»uÉÈy�&� $\àH�µµÅ£� �ºÌq ny�sÁT¦ 

 1. �T¿£sY ç�|�ÕCÙ 

 2. s�eTH� yîT>·�d�d ny�sÁT¦ 

 3. C²ãq|ÓsÄY ny�sÁT¦ 

 4. |�Ú*³̈sY  

 

 

130. The two upper chambers of heart are  
 1. arteries  
 2. atria  
 3. veins  
 4. ventricles  
 >·T+&îýË� �|Õ Âs+&�T >·<�T\T 

 1. <�eTqT\T 

 2. ¿£]�¿£\T 

 3. d¾sÁ\T 

 4. ÈsÄÁ]¿£\T 

 

 

 

 



131. The process of sending excess products or goods to other 
countries is  

 1. Import 
 2. Production  
 3. Consumption  
 4. Export 

 n~ó¿£+>± �q� �ÔáÎÔáTï\T ýñ<� ed�TïeÚ\qT �ÔásÁ <ûXæ\Å£�  

|�+�| $<ó�q+ 

 1. ~>·TeTÜ 

 2. �ÔáÎÜï 

 3. $�jîÖ>·+ 

 4. m>·TeTÜ 

 
132. Choose the pair of magnetic material  
 1. Iron, Cobalt  
 2. Iron, Silicon  
 3. Silicon, Nickle  
 4. Silicon, Copper  
 njáTkÍØ+Ôá |�<�sÁÆ ÈÔáqT mqT�¿Ã+&� 

 1. �qTeTT, ¿Ãu²ýÙ¼ 

 2. �qTeTT, d¾*¿±H� 

 3. d¾*¿±H�, �Â¿ýÙ 

 4. d¾*¿±H�, s�Ð 
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133. Bobbili war was fought between these kings 

  1. Vijayanagara   - Gajapathis 

 2. Gajapathis  - Bobbili 
 3. Bobbili  -  British 

 4. Vijayanagara  - Bobbili 
 u¤_Ò* jáTT<�Æ+ M] eT<ó�« È]Ð+~ 

 1. $ÈjáTq>·sÁ+   ` >·È|�ÔáT\T 

 2. >·È|�ÔáT\T  ` u¤_Ò* 

 3. u¤_Ò*   ` ç_{¡wt 

 4. $ÈjáTq>·sÁ+  ` u¤_Ò* 

   
134. The location of Kailasanath temple is  

  1. Madhurai 

 2. Kanchipuram 
 3. Mysore 

 4. Srikalahasthi 
 Â¿Õý²d�H�<̧� <ûy�\jáT+ �¿£Ø&� ¿£\<�T 

 1. eT<̧�TÂsÕ 

 2. ¿±+N|�ÚsÁ+ 

 3. yîT®d�ÖsY 

 4. l¿±ÞøV�²d¾ï  



135. ‘World Water Day’ is celebrated on 

  1. March 22 

 2. April 22 
 3. May 22 

 4. June 22 

 »ç|�|�+#á È\ ~HÃÔáàe+µ qT � sÃEq ÈsÁT|�ÚÅ£�+{²sÁT 

 1. eÖ]Ì 22 

 2. @ç|¾ýÙ 22 

 3. yûT 22 

 4. pH� 22 

 

136. Find the incorrect pair regarding Shifting cultivation 

  1. Jumming - North East India 

 2. Milpa  - Mexico 
 3. Roca  - Brazil 

 4. Ladang - Argentina 
 $kÍï|�q e«ekÍjáÖ�¿ì d�+�+~ó+º d�]¿±� ÈÔáqT >·T]ï#á+&�. 

 1. E$T�+>́ `  �Xæq« uó²sÁÔá<ûXø+ 

 2. $Tý²Î  `  yîT¿ìà¿Ã 

 3. s=¿±  `  çuÉ�ýÙ 

 4. ýñ<�+>́  `  nÂs̈+{ìH� 

  



137. Asmaka Mahajanapada was located on the river bank of 

  1. Krishna 

 2. Narmada 
 3. Godavari 

 4. Ganga 

 nd��¿£ eTV�ä Èq|�<�+ � q~ ÿ&�T¦q �+&û~ 

 1. ¿£�cÍ�  

 2. qsÁ�<� 

 3. >Ã<�e]  

 4. >·+>±  

   
  

138. “Arya Sathyas” are the teachings of  

  1. Gouthama Buddha 

 2. Mahaveera 
 3. Gurunanak 

 4. Jesus Christ 

 »»�sÁ« d�Ô�«\Tµµ M] jîTT¿£Ø uË<ó�q\T 

 1. >�ÔáeT �T<�TÆ&�T 

 2. eTV�äMsÁT&�T 

 3. >·TsÁTH�q¿ù 

 4. @d�Tç¿¡d�Tï 

  



139. People started minting coins in their homes during the  
 period of 

  1. Allauddin Khilji 

 2. Balban 
 3. Muhammad-bin-Tughlaq 

 4. Ibrahim Lodi 
 ç|�È\T M] ¿±\+ýË ÔáeT �+&�¢ýË H�Dñ\qT eTTç~+#�sÁT 

 1. ný²¢eÚBÝH� Ï©̈ 

 2. u²\ÒH� 

 3. eTV�²�<� ;H� ÔáT>·¢¿ù 

 4. �ç�VÓ²+ ýË&� 

 

140. Permanent Settlement system was introduced during his period 
in British India 

  1. Lord Dalhousie 

 2. Lord Rippon 
 3. Lord Hunter 

 4. Charles Cornwallis 
 ç_{¡wt �+&�jáÖýË �Ôá� ¿±\+ýË XæXøÇÔá ¥d�Tï �sÁ�jáT |�<�ÆÜ  

 ç|�yûXø�|³¼�&�+~ 

 1. ý²sY¦ &�ý�½d¾ 

 2. ý²sY¦ ]|�ÎH� 

 3. ý²sY¦ V�²+³sY 

 4. #ó�Âs¢dt ¿±sÁH�y�©dt 

  



141. Kondapalli Fort was built by 

  1. Kakatiyas 

 2. Musunuri Nayakas 
 3. Cholas 

 4. Vijayanagara Kings 

 ¿=+&�|�*¢ ¿Ã³qT �]�+ºq~ 

 1. ¿±¿£rjáTT\T 

 2. eTTd�TqÖ] H�jáTÅ£�\T 

 3. #ÃÞø�\T 

 4. $ÈjáTq>·sÁ s�E\T 

   
142. This book is a source to know about the Mauryan 

administration 

  1. Kreedabhiramam 

 2. Kadambari 
 3. Indica 

 4. Kumara Sambhavam 

 eTòsÁT«\ |�]bÍ\qqT >·T]+º Ôî\Td�T¿Ãe&��¿ì � ç>·+<ó�+ ÿ¿£   

�<ó�sÁ+ 

 1. ç¿¡&ó�_ós�eT+ 

 2. ¿±<�+�] 

 3. �+&�¿± 

 4. Å£�eÖsÁ d�+uó�e+ 

  



143. During the Kakatiya period, “Perini natyam” was performed at 
the time of 

  1. Harvesting 

 2. Festival 
 3. Rituals 

 4. Warfare 
 ¿±¿£rjáTT\ ¿±\+ýË »»�|]D¡ H�{²«��µµ � d�eTjáT+ýË  

 ç|�<�]ô+#ûy�sÁT 

 1. |�+³¿ÃÔá 

 2. |�+&�T>· 

 3. jáTC²ã\T 

 4. jáTT<�Æ\T 

 

144. This was the first country in the world to develop Hydro 
Electricity 

  1. Norway 

 2. Japan 
 3. Australia 

 4. Germany 
 ç|�|�+#á+ýË È\ $<�T«ÔY qT n_óe�~Æ #ûd¾q yîTT<�{ì <ûXø+ 

 1. H�¹sÇ 

 2. ÈbÍH� 

 3. ���d¼*jáÖ 

 4. ÈsÁ�ú 

 

 

 



145. “Curriculum is the tool used by the teacher like an artist to 
achieve goals and objectives set in the school.” – is said by  

 1. John Dewey 
 2. Ryburn  
 3. B. D. Bhatia  
 4. Cunningham  
 »»bÍsÄÁXæ\ýË �¹sÆ¥+ºq \¿�±«\qT, �<ûÆXæ«\qT sÁÖ|�Ú~<ûÝ³³T¢  

 #ûjáT&��¿ì ÿ¿£ ¿£Þ²¿±sÁT&� ý²>± �bÍ<ó�«jáTT&�T �|�jîÖÐ+#û  

kÍ<ó�qyûT ¿£]Å£�\+µµ nq�~. 

 1. C²H� &�Ö«sTT 

 2. ÂsÕ�sY� 

 3. B. D.uó²{ìjáÖ 

 4. ¿£��+>V́�äy�T 

 

146. “Why is camel called The Ship of the Desert?” The academic 
standard of this question 

 1. Conceptual Understanding 
 2. Questioning and hypothesis 
 3. Information skills and projects 
 4. Appreciation 
 »»ÿ+fÉ qT m&�] z&� nq&��¿ì ¿±sÁD+ @$T{ì?µµ � ç|�Xø� jîTT¿£Ø 

$<�« ç|�eÖD+. 

 1. $w�jáÖe>±V�²q 

 2. ç|�¥�+#á&�+ ` |�]¿£\Îq\T #ûjáT&�+ 

 3. d�eÖ#�sÁ HîÕ|�ÚD²«\T ` çbÍCÉÅ£�¼\T 

 4. ç|�Xø+d� 

 

 



147. This helps teachers in assessing the student’s written exam 
papers 

 1. Rubrics  
 2. Check list 
 3. Portfolios  
 4. Rating scale 

 $<�«]Æ s�d¾q |�̄ ¿£�qT eT~+|�Ú #ûjáT&�+ýË �bÍ<ó�«jáTT\Å£� d�V�äjáT

|�&�Tq~ 

 1. sÁÖç_¿ùà 

 2. #î¿ù*dt¼ 

 3. bþsY¼b�þ*jîÖdt 

 4. ¹s{ì+>́ �dØýÙ 

 

SOCIAL METHODOLOGY  

 

148. The percentage of weightage given to conceptual under 
standing in social science is  

 kÍ+|�¾T¿£ Xæg+ýË $w�jáÖe>±V�²qÅ£� >·\ uó²sÁÔáÇ XæÔá+ 

 1. 15% 

 2. 10% 

 3. 40% 

 4. 30% 

 
 
 
 
 
 



149. The file containing children’s stories, songs, drawings and 
letters is known as  

  1. Port folio 

 2. Diary 
 3. Anecdotal Record 

 4. Case Study 
 |¾\¢\T s�d¾q ¿£<̧�\T, ¹>jáÖ\T, ºçÔ�\T eT]jáTT �Ôáïs�\T �q�    

<��kÍï�� �ý² |¾\TkÍïsÁT 

 1. bþsY¼ b�þ*jîÖ 

 2. &îȬ  

 3. d�+|��T³q sÁ#áq ]¿±sY¦ 

 4. ¹¿dt d�¼&� 
  

 
150. “Evaluation is the process of finding out how well the 

educational objectives have been achieved.” is Defined by 

  1. Billard 

 2. NCERT 
 3. Ralph Tyler 

 4. Benjamin 

 »»$<�« \¿�±«\qT m+ÔáesÁÅ£� kÍ~ó+#á&�+ È]Ð+<Ã Ôî\Td�TÅ£�Hû  

 $<ó�qyûT eTÖý²«+¿£q+µµ n� �sÁÇº+ºq~ 

 1. _ý²¢sY¦ 

 2. NCERT 

 3. s�ýÙÎÛ fÉ®\sY 

 4. uÉ+È$TH� 


